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<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]VVVV< << << << <
î×Â<^‰^‰_<ëçj¬<|æ†r×Ö<��<Ì–ßÚ<�çéÖ]<êñ^ßmI2(aq) <<êÖç¹]<åˆéÒ†i<êñ^Ú<Ùç×¦<àÂ<ì…^fÂC = 1.4 .10

-2
 mol/L <

<ì…]†u<íq…�<<»20°C<<äßÚ<^Ûru<†�ée<»<gÓŠÞ<æV=100 ml<<Ìé–Þ<Üm<E<Àv×Ö]<»t = 0<<D<ÔÞˆÖ]<àÚ<íÃŞÎZn<
<^ãj×jÒm = 2g<<íéñ^éÛéÓÖ]<íÖ�^Ã¹^e<Ý^jÖ]<æ<óéŞfÖ]<ÙçvjÖ]<]„â<t„Ûßè<H<^é«…‚i<ð^Ëj}ý]<»<_‚fè<�fÖ]<áç×Ö]<HV<<<

Zn(s) + I2(aq) = Zn
+2

(aq) + 2I
-
(aq)< <

1<I <á^j×Â^Ëj¹]<°jéñ^ßnÖ]<sjßj‰c<Üm<Å^q…ý]<æ<ì‚ŠÒúÖ<°jéË’ßÖ]<°jÖ�^Ã¹]<gjÒ_(OX / Red)<J 
2<I <løÂ^Ëj¹]<ì�^Ú<íéÛÒ<gŠu_<íéñ]‚jeý]J 
3<I _<K<êÛ¿Âù]<Ý‚ÏjÖ]<gŠu_<æ<ØÂ^ËjÖ]<]„�<Ý‚ÏjÖ]<Ùæ‚q<ó�Þ_Xmax<J 

h<K<�…]ç�<àÚ<ØÓÖ<êÖç¹]<ˆéÒ�Ö]<gŠu_I
-
 <<æZn

+2<<íéñ^ãßÖ]<íÖ^£]<»J< <
{q<K…^fÂ<‚qæ_<ì[ ]2I  <E<í¿v×Ö]<»<�çéÖ]<êñ^ßm<Ùç×�<êÖç¹]<ˆéÒ�Ö]t<D<íÖ÷‚eCHV<<ØÂ^ËjÖ]<Ý‚Ïi<æX<J< <

4<I <Øe^Ï¹]<á^éfÖ]<î×Â<^ß×’vÊ<íéÞç×Ö]<ì†è^Ã¹]<Ðè†�<àÂ<íéñ^éÛéÓÖ]<í×Û¢]<å„â<…çŞi<Äe^jÞ .  

� <á^éfÖ]<àÚ<‚qæ_V 

1 - <àÚ‡Þ<ØÂ^ËjÖ]<Ì’t1/2<J 

2 - <í¿v×Ö]<»<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]t = 25 min<J 

3 - [<Øé×ÃjÖ]<ÄÚ<[<íÂ†ŠÖ]<å„â<…çŞji<ÌéÒ 

4 - �çéÖ]<�…]ç�<ØÓ�jÖ<íéÛr£]<íÂ†ŠÖ])<I
-
(aq)<(<í¿v×Ö]<»t = 25 min< 

5 - í¿v×Ö]<»<sèˆÛ×Ö<êÖç¹]<ˆéÒ�Ö]  < t = 25 min<J 

<êŞÃÞ<VM(Zn) = 65.4 g/mol  < <
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<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<                                                           <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<ÐéÊçjÖ^e 

<íéñ^èˆéËÖ]<Ýç×ÃÖ]<ì�^Ú<»<Ùæù]<Ø’Ë×Ö<Ùæù]<š†ËÖ] 

X(10
-3
mol) 

t(min) 10 

0.2 

0 


